# CONVOLUTION SUM OF RAMANUJAN'S SUM 

GYE HWAN JO, ABDELMEJID BAYAD AND DAEYEOUL KIM*


#### Abstract

This article is the result of calculating the convolution of Ramanujan's sum and natural number multiplied. Among these results, special values are expressed by Euler and Bernoulli functions.

AMS Mathematics Subject Classification : 11A25, 11B68. Key words and phrases : Ramanujan's sum, convolution sum.


## 1. Introduction

The theory of convolution sums of arithmetic functions is being studied a lot because it is helpful for the various number theory and special functions. Various results can be seen in the convolution sum for Ramanujan's sum. In fact,

Let $n$ and $r$ be positive integers. Define

$$
c(n, r):=\sum_{\substack{x=1 \\ \operatorname{gcd}(x, r)=1}}^{r} e^{\frac{2 \pi n x}{r}}
$$

and

$$
\begin{equation*}
c(m, n, r):=\sum_{d \mid \operatorname{gcd}(m, n, r)} d^{2} \mu(r / d), \tag{1}
\end{equation*}
$$

where $\mu$ is the Möbius function. $c(n, r)$ is called Ramanujan's sum. In this article, we will use $c(m, n, r)=c^{(2)}(g c d(m, n), r)$ interchangeably. It is well known that $c(n, r)=\sum_{d \mid g c d(n, r)} \mu(r / d) d$ and $c(0, r)=\phi(r)$.

In 1918, Srinivasa Ramanujan considered Ramanujan's sums (see [6]). In fact, Srinivasa Ramanujan sum was usefully used when proving Vinogradov's theorem [5, Chapter 8]. In this paper we define the quasi-generalized Ramanujan's sum and give the relation to the Ramanujan's sum, Bernoulli polynomials and Euler

[^0]polynomials. Bernoulli polynomials and Euler polynomials have been studied by many mathematicians (see $[1,2,4,7]$ ).

For any rational numbers $k_{1}, k_{2}, k_{3}$, the quasi-generalized Ramanujan's sums are

$$
C_{\left(k_{1}, k_{2}, k_{3}\right)}^{+}(l):=\sum_{n=1}^{l} \sum_{\substack{m=1 \\ r \mid n}}^{m \leq \frac{n}{k_{1}}} c\left(k_{1} m, n-k_{1} m, r\right) m^{k_{2}} n^{k_{3}}
$$

and

$$
C_{\left(k_{1}, k_{2}, k_{3}\right)}^{-}(l):=\sum_{n=1}^{l} \sum_{\substack{m=1 \\ r \mid n}}^{m \leq \frac{n}{k_{1}}} c\left(k_{1} m, n-k_{1} m, r\right)(-1)^{n} m^{k_{2}} n^{k_{3}}
$$

where $l$ is a positive integer.
In fact, we will prove the following result.
Theorem 1.1. Let $k_{3}$ be an integer and $l$ be a positive integer. Then we have

$$
\begin{gathered}
C_{\left(1,0, k_{3}\right)}^{+}(l)= \begin{cases}\frac{B_{k_{3}+3}(l+1)-B_{k_{3}+3}}{k_{3}+3} & \text { if } k_{3}>-2, \\
l & \text { if } k_{3}=-2, \\
H_{l}^{\left(-k_{3}-2\right)} & \text { if } k_{3}<-2,\end{cases} \\
C_{\left(1,1, k_{3}\right)}^{+}(l)= \begin{cases}\frac{B_{k_{3}+4}(l+1)-B_{k_{3}+4}}{2 k_{3}+8} & \text { if } k_{3}>-3, \\
\frac{l}{2} & \text { if } k_{3}=-3, \\
\frac{1}{2} H_{l}^{\left(-k_{3}-3\right)} & \text { if } k_{3}<-3,\end{cases} \\
C_{\left(1,0, k_{3}\right)}^{-}(l)= \begin{cases}\frac{E_{k_{3}+2}(0)+(-1)^{l} E_{k_{3}+2}(l+1)}{2} & \text { if } k_{3}>-2, \\
\chi(l) & \text { if } k_{3}=-2, \\
S_{l}^{\left(-k_{3}-2\right)} & \text { if } k_{3}<-2\end{cases}
\end{gathered}
$$

and

$$
C_{\left(1,1, k_{3}\right)}^{-}(l)= \begin{cases}\frac{E_{k_{3}+3}(0)+(-1)^{l} E_{k_{3}+3}(l+1)}{4} & \text { if } k_{3}>-3 \\ \frac{\chi(l)}{2} & \text { if } k_{3}=-3 \\ S_{l}^{\left(-k_{3}-3\right)} & \text { if } k_{3}<-3\end{cases}
$$

Here, $H_{l}^{(t)}=1+\frac{1}{2^{t}}+\ldots+\frac{1}{l^{t}}, S_{l}^{(t)}=-1+\frac{1}{2^{t}}-\ldots+(-1)^{l} \frac{1}{l^{t}}, B_{n}(z)$ (resp., $\left.E_{n}(z)\right)$ is the nth Bernoulli polynomial (resp., Euler polynomial) and

$$
\chi(l)= \begin{cases}0, & \text { if } l \text { is even } \\ -1, & \text { otherwise }\end{cases}
$$

Example 1.2. Let $l$ be a positive integer. Then

$$
C_{+}(l):=C_{(1,0,0)}^{+}(l)=\sum_{n=1}^{l} \sum_{\substack{m=1 \\ r \mid n}}^{n} c(m, n-m, r)=\frac{B_{3}(l+1)}{3}=\frac{l(l+1)(2 l+1)}{6}
$$

and
$C_{-}(l):=C_{(1,0,0)}^{-}(l)=\sum_{n=1}^{l} \sum_{\substack{m=1 \\ r \mid n}}^{n}(-1)^{n} c(m, n-m, r)=\frac{(-1)^{l} E_{2}(l+1)}{2}=\frac{(-1)^{l} l(l+1)}{2}$.


Figure 1. Values of $G^{\prime}(l), C_{+}(l), G(l), \operatorname{Pyr}_{3}(l)(2 \leq l \leq 8)$

Remark 1.1. Let $G(l):=\sum_{(a+b+c) x=l+2} a$ and $G^{\prime}(l):=\sum_{(a+b+c) x=l+2} 2 a$ with $a, b, c, l, x \in \mathbb{N}$. The result of studying the values of functions such as $G(l)$ is in [8].

Using [3, Theorem 1.1 and Remark 2.2] and Theorem 1.1, we obtain

$$
G^{\prime}(l)>C_{+}(l)>G(l) \geq \operatorname{Pyr}_{3}(l)
$$

with $l \geq 1$. Here, $\operatorname{Pyr}_{a}(z)=\frac{1}{6}(z(z+1)((a-2) z+5-a))$ be the $a$ th order pyramid number. In Figure 1, we plot the graphs for the values of $G^{\prime}(l), C_{+}(l)$, $G(l)$ and $\operatorname{Pyr}_{3}(l)$ when $l=2,3,4,5,6,7,8$.

It is easly checked that if $l=2$ or $l+2$ is a prime number for $l \geq 1$, then we obtain

$$
G(l)=\operatorname{Pyr}_{3}(l)=\frac{l(l+1)(l+2)}{6}
$$

## 2. Proof of Theorem 1.1

We need several lemmas to prove Theorem 1.1, so we introduce them first.
Lemma 2.1. Let $k$, $n$ and $r$ be positive integers. Then

$$
\begin{equation*}
\sum_{m=1}^{n} c(m, n-m, r)^{k}=\left(\varphi * c^{(2)}(\cdot, r)^{k}\right)(n) \tag{2}
\end{equation*}
$$

and

$$
\sum_{m=1}^{n-1} c(m, n-m, r)^{k}=\left(\varphi * c^{(2)}(\cdot, r)^{k}\right)(n)-c^{(2)}(n, r)^{k} .
$$

Here, * is a Dirichlet convolution, that is, $(f * g)(n)=\sum_{d \mid n} f(d) g\left(\frac{n}{d}\right)$ and $c^{(2)}(\cdot, r)$ means that one of the two variables, $r$, is given as a fixed number, and the other is regarded as a one varible function.
Proof. Let

$$
A:=\sum_{m=1}^{n} c(m, n-m, r)^{k}=\sum_{d \mid n} \sum_{\substack{x=1 \\ g c d(x, n / d)=1}}^{n / d} c(x d, n-x d, r)^{k} .
$$

Since $\operatorname{gcd}(x, n / d)=1$ implies $\operatorname{gcd}(x, n / d-x)=1, \operatorname{gcd}(x d, n-x d)=d$ and $c(x d, n-x d, r)=c^{(2)}(d, r)$ by (1). Thus, we deduce that

$$
A=\sum_{d \mid n} c^{(2)}(d, r)^{k} \sum_{\substack{x=1 \\ g c d(x, n / d)=1}}^{n / d} 1=\sum_{d \mid n} \varphi(n / d) c^{(2)}(d, r)^{k}
$$

From (2), we obtain that

$$
\sum_{m=1}^{n-1} c(m, n-m, r)^{k}=\left(\varphi * c^{(2)}(\cdot, r)^{k}\right)(n)-c^{(2)}(n, r)^{k}
$$

This completes the proof of Lemma 2.1.
Lemma 2.2. Let $n$ and $r$ be positive integers. Then

$$
\begin{equation*}
\left(\varphi * c^{(2)}(\cdot, r)\right)(n)=n c(n, r) \tag{3}
\end{equation*}
$$

Proof. To prove Lemma 2.2, let us define $g(n, r)$ as follows

$$
g(n, r):= \begin{cases}r & \text { if } r \mid n \\ 0 & \text { otherwise }\end{cases}
$$

From the left hand side of (3), we get the following process by rearranging terms. That is,

$$
\begin{aligned}
\left(\varphi * c^{(2)}(\cdot, r)\right)(n) & =\sum_{d \mid n} \varphi(n / d) \sum_{e \mid g c d(d, r)} e^{2} \mu(r / e)=\sum_{d \mid n} \varphi(n / d) \sum_{d \mid r} e \mu(r / e) g(d, e) \\
& =\sum_{e \mid r} e^{2} \mu(r / e) \sum_{\substack{d|n \\
e| d}} \varphi(n / d)=\sum_{e \mid g c d(n, r)} e^{2} \mu(r / e) \sum_{\substack{D \mid n / e \\
d=D e}} \varphi(n / D e) \\
& =\sum_{e \mid g c d(n, r)} e^{2} \mu(r / e) \frac{n}{e}=n \sum_{e \mid g c d(n, r)} e \mu(r / e)=n c(n, r)
\end{aligned}
$$

By Lemma 2.2, we have Corollary 2.3.
Corollary 2.3. Let $n$ and $r$ be positive integers. Then

$$
\sum_{m=1}^{n-1} c(m, n-m, r)=n c(n, r)-c^{(2)}(n, r)=\sum_{d \mid g c d(n, r)} d(n-d) \mu(r / d)
$$

Furthermore, by using the Möbius inversion formula, we have

$$
c^{(2)}(n, r)=\left(\zeta_{1} \mu * \zeta_{0} * \zeta_{1} c(\cdot, r)\right)(n)
$$

Here, $\zeta_{i}(t)=t^{i}$ and $f g(t)=f(t) g(t)$, where $i$ is a non-negatvie integer and $t$ is a positive integer.

Lemma 2.4. Let $n$ and $r$ be positive integers. If $r \mid n$, then

$$
\begin{equation*}
\sum_{m=1}^{n} c(m, r) c(n-m, r)=n c(n, r) \tag{4}
\end{equation*}
$$

Proof. Let $B$ be the left hand side of (4) and let $r \mid n$. By the definition of the Ramanujan' sum, we derive that

$$
\begin{aligned}
B & =\sum_{m=1}^{n} \sum_{\substack{x=1 \\
g c d(x, r)=1}}^{r} \sum_{\substack{y=1 \\
g c d(y, r)=1}}^{r} e^{2 \pi m x / r} \cdot e^{2 \pi(n-m) y / r} \\
& =\sum_{\substack{y=1 \\
g c d(y, r)=1}}^{r} e^{2 \pi n y / r} \sum_{\substack{x=1 \\
g c d(x, r)=1}}^{r}\left[\sum_{m=1}^{n} e^{2 \pi m(x-y) / r}\right] .
\end{aligned}
$$

Since $1 \leq x, y \leq r$ and $r \mid(x-y)$ implies $x=y$, the sum in brackets is equal to $n$ if $x=y$ and 0 otherwise. Therefore,

$$
B=n \sum_{\substack{x=1 \\ g c d(x, r)=1}}^{r} e^{2 \pi n x / r}=n c(n, r)
$$

By Corollary 2.3 and Lemma 2.4, we have that
Corollary 2.5. Let $n$ and $r$ be positive integers. If $r \mid n$, then

$$
\sum_{m=1}^{n} c(m, n-m, r)=\sum_{m=1}^{n} c(m, r) c(n-m, r)=n c(n, r)=n \varphi(r)
$$

Proof of Theorem 1.1
It is well-known that

$$
\begin{equation*}
\sum_{r \mid n} \varphi(r)=n \tag{5}
\end{equation*}
$$

by Lemma 2.5 and (5), we obtain that

$$
\begin{equation*}
\sum_{r \mid n} \sum_{m=1}^{n} c(m, n-m, r)=\sum_{r \mid n} n \varphi(r)=n^{2} \tag{6}
\end{equation*}
$$

It is easily checked that

$$
\sum_{m=1}^{n} c(m, n-m, r) m^{2}=\sum_{m=1}^{n} c(m, n-m, r)(n-m)^{2}
$$

and

$$
\begin{equation*}
\sum_{m=1}^{n} c(m, n-m, r) m=\sum_{m=1}^{n} c(m, n-m, r) \frac{n}{2} \tag{7}
\end{equation*}
$$

Using (6), (7) and two results((2.2), (2.3)) in Sun's article (see [7]), the proof of Theorem 1.1 is completed.

## References

1. S.D. Kim and M-S. Kim, New identities involving Bernoulli, Euler and Genocchi numbers, Adv. Difference Equ. 2013:74 (2013), 15 pp.
2. N.S. Jung and C.S. Ryoo, A reserach on a new apporach to Euler polynomials and Bernstein polynomials with variable $[x]_{q}$, J. Appl. Math. \& Informatics 35 (2017), 205-215.
3. D. Kim, A. Kim and N.Y. Ikikardes, Bernoulli numbers and certain convolution sums with divisor functions, Adv. Difference Equ. 2013:277 (2013), 20pp.
4. M-S. Kim, Generalized Euler power series, J. Appl. Math. \& Informatics 38 (2020), 591-600.
5. M.B. Nathanson, Additive Number Theory, The Classical Bases, Graduate Texts in Mathematics 164, Springer, 1996.
6. S. Ramanujan, On Certain Trigonometric Sums and their Applications in the Theory of Numbers, Transactions of the Cambridge Philosophical Society XXII 13 (1918), 259-276.
7. Z. Sun, Introduction to Bernoulli and Euler polynomials, http://maths.nju.edu.cn/~ zwsun/BerE.pdf.
8. K.S. Williams, Number Theory in the Spirit of Liouville, Cambridge University Press, New York, 2011.

Gye Hwan Jo is currently a M.S. student at Jeonbuk National University. His research intersets focus on number theory.
Department of Mathematics and Institute of Pure and Applied Mathematics, Jeonbuk National University, 567 Baekje-daero, Deokjin-gu, Jeonju-si, Jeollabuk-do, 54896, Republic of Korea.
e-mail: johh1986@hanmail.net
Abedelmejid Bayad received Ph.D. degree from Universiteé Bordeaux 1. His research intersets focus on number theory.
Université d'Evry Val d'Essonne, Université Paris-Saclay, CNRS (UMR 8071), Laboratoire de Mathématiques et Modélisation d'Évry, I.B.G.B.I., 3ème étage, 23 Boulevard de France, 91037 Evry cedex, France.
e-mail: abdelmejid.bayad@univ-evry.fr, abayad@maths.univ-evry.fr
Daeyeoul Kim received Ph.D. degree from Jeonbuk National University. His research intersets focus on number theory.

Department of Mathematics and Institute of Pure and Applied Mathematics, Jeonbuk National University, 567 Baekje-daero, Deokjin-gu, Jeonju-si, Jeollabuk-do, 54896, Republic of Korea.
e-mail: kdaeyeoul@jbnu.ac.kr


[^0]:    Received January 24, 2022. Revised February 23, 2022. Accepted February 25, 2022. * Corresponding author.

    The corresponding author is supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT). (No. 2021R1F1A1051093)
    © 2022 KSCAM.

